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What does the poet want to communicate 1
he says that the beloved woman has no {
do with a goddess? :

a. O The lady is horrible.

b. O The lady is a real woman, not &
one.

O The lady speaks well but is e
d. O The lady is pleasant when s

The final couplet represents
What does the poet say?
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The form of Sonnet 130 - three |1 and

a couplet, (2] ... L% 7o AT rhyme scheme, iambic

pentameters — is the trad|t|ona| one. Yet its content

sets it apart from [3] L QKL \ove sonnets.

In fact it can be defined as a (4] J/ i of
those poems. Shakespeare deliberately uses the
comparisons typical of love poetry to reverse them so

the beloved woman 's eyes are no longer
'~ |ike the sun, her hair is not

“A/£7  and her cheeks are not like

;6“ .......... .l
R/ 77/ 7 . He shows that those comparisons
' ince real women are

are ridiculous exaggeratlons Si
hat love does

not [8] .V TLL L
not need false compansons and that to him his

9] LLAUL LK T8 beautiful for what she is.
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